
 32 

 35 

 370 

 170 

 
i.5

0 

 
e.

50
 

 
i.4

5 

2x Plain washer 5x15
Cod.406580

2X Allen screw M5X12
T.C.Z.B.
Cod.201031

2x Mounting plate M5
Cod.204555

4x Graphite Gasket
Cod.200371

Pipe  N°1349 s.s.
Cod.3014352201

Super short  spring
Cod.308574001

Strap in s.s Ø49
Cod.300049534

LV ONE EVO big silencer S.s
L 370 x 50 RHS
Cod.3014330481

Carbon clamp FB1DS
Cod.3014220501

2x Aluminium spacer
ø27X8,5X11 
Cod. 204321

2x Knurled collar nut M8
Cod.200298

Carbon cover
Cod.0814330001

Allen screw M8X20
Cod.200722

Allen screw M8X50
T.C.Z.B.
Cod.200461

S.s bracket "S8B"
Prod cod.0814352501
Purch. cod.205047

E13  92R - 02 10399

 1
25

 

 110 

Db-killer N.32B
Cod.307762801

ART. 14352E

TRIUMPH TIGER 900 GT / RALLY / PRO 
(fits with original panniers) (also fits 35kW version)

SLIP-ON - LV ONE EVO - STAINLESS STEEL - APPROVED


